RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Enrollment - May)

RESOLUTION NO. 06-261

1	WHEREAS,	, the Tohono O'odham Council has reviewed the recommendations of the Enrollment			
2		Committee in	accordance with Section I of Article VIII of the Enrollment Ordinance,		
3		Ordinance No	. 05-81, and has made a final determination that the application of the		
4		following app	licant for membership in the Tohono O'odham Nation be approved:		
5		ARTICLE II - M	IEMBERSHIP		
6		SECTION 1(b)	ALL CHILDREN BORN TO RESIDENT MEMBERS		
7 8		3971-B-04	Moristo, Bonnie		
9		4116-B-06	Garcia, Lynnell Sydina		
10		4119-B-06	Eleando, Elias Elliot		
11		4120-B-06	Harvey, Jazmin M.		
12					
13		3306-CK-05	West, Joshua A.		
14		3341-CK-06	Arguellez, Leonardo Q.		
15		3342-CK-06	Dickens, Darius		
16					
17		3774-GA-06	Folson, Delo T.M.		
18		3779-GA-06	Slemmer, Evan		
19					
20		2522-GV-06	Celaya, Alondra		
21		2525-GV-06	Parra, Caleb Y.		
22		2526-GV-06	Orduno III, Ruben M.		
23		2529-GV-06	Robles, Britney		
24		2530-GV-06	Robles, Amya		
25		2210 11 06	0.4. A		
26		2210-H-06	Ortega, Amare W.		
27 28		2211-H-06	Polingyumptewa, Lucille T.		
29		2212-H-06 2213-H-06	Childs, Juan T. Jr. Torres, Paul E.		
30		2214-H-06	Pablo, Steven A.		
31		2215-H-06	Coronado, Alfonso C.		
32		2216-H-06	Francisco, Magik J.		
33		2210-11-00	i i unicisco, mugin j.		
34		2282-P-06	Reyna, Lavelda E.		
35		2285-P-06	Pichardo, Aristeo D.		
36		2286-P-06	Truckey, Alexis D.		
37		2288-P-06	Miguel, Monica Mari Sol R.		
38		2290-P-06	Jose, Allen M.		
39		2291-P-06	Jose, Rhianna M.		
40		2294-P-06	Garcia, Love		
41					
42		2206-GB-04	Gonzalez III., Ignacio		
43		2240-GB-05	Osegueda, Ricardo J.		
44 45		2320-GB-06	Soto, Abrielle D.		
46		2460-SX-06	Corella-Encinas, Kionna R.		
47		2466-SX-06	Encinas, Gensis A.		
48		2467-SX-06	Yim Jr., Paul		
49			-		
50		1938-ST-06	Reyna, Ismael C.		
51		1941-ST-06	Villarreal, Angelina J.		
	11		•		

	RESOLUTION NO. <u>06-261</u> (Enrollment - May) Page 2 of 3						
1 2 3	ARTICLE II - MEMBERSHIP SECTION 1(b) ALL CHILDREN BORN TO RESIDENT MEMBERS						
4 5 6	4836-S-01 Pedro, Milena V.J. 5283-S-06 Manuel, Vince J.						
7 8	2481-SO-06 Andrew, Darrius S.						
9	${f NOW}, {f THEREFORE}, {f BE}$ IT RESOLVED that it is hereby determined that the above named applicant						
10	is eligible for enrollment as a member of the Tohono O'odham Nation under Section						
11	1(a) or (b) of Article II of the Constitution of the Tohono O'odham Nation, and that						
12	their application is approved, as herein above indicated.						
13	BE IT FURTHER RESOLVED that the Chairwoman and other appropriate officers of the Tohono						
14	O'odham Nation reduce this final determination in writing regarding each of the						
15	foregoing applications for enrollment in accordance with Section 1(a) of Article XIII						
16	of the Enrollment Ordinance; give notice of this Council's determination in						
17	accordance with Section 2 of Article XIII of the Enrollment Ordinance; and place the						
18	names of each applicant upon the membership roll of the Tohono O'odham Nation						
19	in accordance with Sections 2 and 3 of Article X of the Enrollment Ordinance.						
20 21 22 23 24 25 26	the foregoing Resolution was passed by the Tohono O'Odham Legislative Council on the <u>01st.</u> Date <u>MAY, 2006</u> at a meeting at which a quorum was present with a vote of <u>2,347.45</u> FOR; <u>93.3 GAINST</u> ; <u>-0-</u> NOT VOTING; and <u>[02]</u> ABSENT, pursuant to the powers vested in the Council be ection 1 of Article II and Section 1(h) of Article VI of the Constitution of the Tohono O'Odham ation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Actin eputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 1 of the Act of June 18, 1934 (48 Stat. 984).						
27							
28 29	TOHONOJO ODHAM LEGISLATIVE COUNCIL						
30							
31							
32 33	Evelyn B. Juan Manuel, Legislative Chairwoman						
34							
35							
36							
37	ATTEST:						
38 39							
40	Juan Jefry						
41	Lucille Lopez, Acting Legislative Secretary						
42 43	$\frac{ \hat{U} }{ \hat{U} }$ day of $\frac{2006}{ \hat{U} }$, 2006.						

	RESOLUTION NO. <u>06-261</u>	
	(Enrollment - May)	
	Page 3 of 3	
1	Said Resolution was submitted	for approval to the office of the Chairwoman of the Tohono day of, 2006 at, o'clock,
2	O'Odham Nation on the 3	day of, 2006 at o'clock,
3	M., pursuant to the provision	s of Section 5 of Article VII of the Constitution and will become
4	effective upon his approval or upo	n his failure to either approve or disapprove it within 48 hours
5	of submittal.	
6		
7		TOHONO O'ODHAM LEGISLATIVE COUNCIL
8		
9		
10		
11		Evelyn B. Juan Manuel, Legislative Chairwoman
12		
13		•
14		\sim
15	APPROVED	on the $\frac{3}{4}$ day of $\frac{1}{4}$. 2006
16		on the 3 day of My, 2006 at 6:35 o'clock, f.m. Muuhullullullullullullullullullullullullu
17	[] DISAPPROVED	at 4.35 o'clock. $\sqrt{}$.M.
18		$\overline{}$
19		Alice Annal Control
20		//Mullynausaunder_
21]	VIVIAN JUAN-SAUNDERS, CHAIRWOMAN
22		TOHONO O'ODHAM NATION
23		
24		
25		
26	Returned to the Legislative Secret	ary on the $\partial^{\mathcal{Y}}$ day of
27		
28		10.05 o'clock. A.M.
29	, = 000, =	
30		
31	Jum Joke	
32	Lucille Lopez, Acting Legislative S	ecretary
33		
34		
35		
36		
37		
38		
39		
40		
41		
42		
43		
44		
45		
46		
TU		

ACTION: ENROLLMENT - MAY

MOVED: COUNCILWOMAN FELICIA NUNEZ

SECOND: COUNCILWOMAN MARLENE SARAFICIO-JUAN

DATE:

MAY 01, 2006

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI	FRANCES MIGUEL (Vernon J. Smith)	155.40	X			
310.8	2. FRANCES G. ANTONE (Lucilda J. Valenzuela (Norris))	155.40	Х			
CHUKUT KUK	1. ETHEL GARCIA	129.35	X			
258.7	() 2. VERLON M. JOSE (David Garcia)	129.35	X			Х
GU ACHI	1. TIMOTHY L. JOAQUIN (Jonas Robles)	110.80	x			
221.6	2. CYNTHIA E. MANUEL (Louis L. Johnson)	110.80	X			
GU VO	1. RAYMOND VICTOR	96.55	X			
193.1	2. MICHAEL FLORES (Grace Manuel)	96.55	X			
HICKIWAN	1. DELMA GARCIA	83.70	X			
167.4	(Mary E. Sam) 2. SANDRA ORTEGA ()	83.70	X		ı	X
PISINEMO	1. BARBARA SALVICIO	85.90	X			
171.8	2. GERALD FAYUANT	85.90	Х			
SAN LUCY	1. JOHN W. LAWSON, SR.	84.50	X			
169.0	2. GLORIA RAMIREZ	84.50	X			
SAN XAVIER	1. FELICIA NUÑEZ	96.90	X			
193.8	2. OLIVIA VILLEGAS-LISTON** (Eileen A. Estrada-Lopez)	96.90	Х			
SCHUK TOAK	1. FRANCES B. CONDE	73.45	X			
146.9	2. PHYLLIS JUAN	73.45	X			
SELLS	1. MARLENE SARAFICIO-JUAN	210 50	X			
421.0	2. EVELYN B. JUAN MANUEL (Kimberly Listo)	210.50	X			
SIF OIDAK	1. WAVALENE SAUNDERS	93.35	X			
186.7	(Isidro Lopez) 2. DARLENE ANDREW (Rita Martinez)	93.35		X		
	TOTAL	2,440.80	2,347.45	93.35	-0-	[02]

^{**}PASSED VOTES